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Question Id : 92090623075 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

HRd ¥ Ugdl HER U3 1777 5. W o 3PReY gt 3 URw fasar o | 29 sHadl 1780
S 1 I S el 91 § urdifes UR™ | g8 e ot yRdtg v &1 ggd 9HER
U3 7 3R 39% gerEr], 3Rl & sifafed A ot ueife ga 41 39 ac Uik 8n
ard 3fvsar Toie (1783), ol Teie (1784) 3M1fe THER uF +ff fagmu uaiia &wd 4|
g1 giifopra faqmoei & sifalied U=k, sirel, a%d, S, € 3i1fe & fagme off ueifRra gid 41
Iaredl 9l H Bu4 ard fagmal F it garell § wae 4 39 sifala aifie g
qur Ul S g 7 gUl Q! & fagma v 39 yeiferd fee e O Jiadi udl & are |
B gl fagmu=T 7 el @1 iy om @it 8t 1906 3. H yia e & I gl & fagma
o &l T Y- “HRd & folg, YRa | &7

fasmo=T # gge siie gyy-wfgarsi & R 8 el g 41 WRdigl &1 39 &3 § uaw
diadl warsdt & gon| ugd Rnb widt ot gent & a3 ®ud 41 dR-4R gg uafy ow gt
T3 | HRAIY dsfdhal 3R Afgant di Wdadl & 915 ol f[ayu= & &3 | ans |

R # ISTT TR0 a1 1926 5. & URS g5 | Sererani & it =i & saauiis
faIToT Tl 1 A9%aR, 1967 ¥ URR g3 | S9! Ugd TSl 3% & THIHT 97% Sl db ¢ | URd
o &1 dl. guROr 1959 5. T WY 3111 59 H1HH WR A9 Jar 1 Sad, 1976 9§ R €5 | 39
HISOH S Ugd TS 52 B 90% S-dl dd o | WA T IHRR W § fheri & = uebied
gd ¥, 71 | R & U8 R UR™ # SR Aei=R & 915 fa-fivdd Gas o @l | 399
sifaRaa dogex SR Hiarga BiF W i fafis sl ored @ 8 gl @1 818 o o 7S |

Sub questions

Question Number : 1 Question Id : 92090623076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁWWWWWEdﬂ?

(1) 1780%. (2) 1777%.
(3) 17847%. 4) 1783 %.
Options :

92090691201. 1
92090691202. 2
92090691203. 3
92090691204. 4



Question Number : 2 Question Id : 92090623077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd1g defedl ofik wfgent e fagu= & & 7 o2

(1) Eagargd (2) WdFAAT P 915
(3) Jufew & (4) 3MYHP BT
Options :

92090691205. 1
92090691206. 2
92090691207. 3
92090691208. 4

Question Number : 3 Question Id : 92090623078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090691209. 1
92090691210. 2
92090691211. 3
92090691212. 4

Question Number : 4 Question Id : 92090623079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090691213. 1
92090691214. 2



92090691215. 3
92090691216. 4

Question Number : 5 Question Id : 92090623080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SHR Ugd! faga dd1 Hd Y g2

(1) 1926%. (2) 1967 %.
(3) 195973 4) 1976 7.
Options :

92090691217. 1
92090691218. 2
92090691219. 3
92090691220. 4

Question Id : 92090623075 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HRd ¥ Ugdl HER U3 1777 5. H o 3PReY fgdt 3w fasar o1 | 29 sHadt 1780
3. 7 394 gd ol A ¥ gidified U fan) g o HRdhg |t &1 Ugdl §HER
U3 7 3R 39% gHrEn], FaRt & sffafved fAama off uaifRe 818 41 39% 915 usiiRE 8n
aTd 3fvsar Teie (1783), Haddl Teie (1784) 3Mfe FHER uF i fagm ue i &wd 4|
g1 giifora faqmoeli & sifafied ok, sitel, a%d, S0, €0 onfe & fagmu= +ff usifRid gid 41
Iaredl 9l § Bu4 ard fagmei § it qarefl @ was 41 39 ifaita ot g
Yl Ul S g 7 gUl Qidd! & faqa W 39 ueiiRid fou e o) fiadl udl & e |
B are fasmu=l 7 el @t 1y om &t o4t 1906 3. H uiiara e & 31 el & fagma
o &l T Y- "HRd & fg, YRa | 97

fasmo=T # gge sife gry-wigarsi & R g el gd 41 YRl &1 39 &3 J yaw
diadl warsdt & gonl ugd Rnb widt 9 gewl & faF 9ud 31 dR-4R g8 vafy o0 gkt
T3 | HRAIY @sfdal 3R Afgant 9l Wdadl & 918 6l [aqu- & &a | os |

R § IS0 TR HaT1 1926 5. H YRS g5 | Sfrrerani & &l S=f 4 saeuiie
faIToT Tl 1 %R, 1967 ¥ URR g3 | U] Ugd TS 3% & T 97% Sd1 dP & | YRd
o &1 dl. gWROr 1959 5. T U 311 39 H1eAH W fA99E 9a1 1 96, 1976 4 UR™ €5 | 39
HISOH S Ugd TS S & 90% S-d1 d o | WM T FHRR W= § el & 9= uebiRid
gld ¥, 71 | R & Ue R UR™ H SR AHiR & 915 Ge-fied Gas o @l | 3%
sifaRaa dgex SR Hrarga wF 9 i fafte sl gy 9 8 fagmoel @1 g F o1 8 €1

Sub questions

Question Number : 1 Question Id : 92090623076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁmwwmmgm

(1) 1780%. (2) 1777%.
(3) 1784% (4) 1783 %.
Options :

92090691201. 1
92090691202. 2
92090691203. 3
92090691204. 4

Question Number : 2 Question Id : 92090623077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR defddl Sk Rigamt &d fagu- & &= # g2

(1) wadargd (2) WdFAAT P 9@l
(3) QIUFHSY & (4) 3H1YIH BIed
Options :

92090691205. 1
92090691206. 2
92090691207. 3
92090691208. 4

Question Number : 3 Question Id : 92090623078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090691209. 1
92090691210. 2
92090691211. 3
92090691212. 4

Question Number : 4 Question Id : 92090623079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090691213. 1
92090691214. 2
92090691215. 3
92090691216. 4

Question Number : 5 Question Id : 92090623080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR % SFHR Ug A9 841 9 IF 837

(1) 19263, (2) 1967 5.

(3) 1959%. @4) 197673,
Options :

92090691217. 1
92090691218. 2
92090691219. 3
92090691220. 4

Sub-Section Number : 2
Sub-Section Id : 920906738
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090623081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P dadi S e A TS TS &-
A, Sfreffarg
B. ICH

£ J=ad
I fau e fasei ¥ 9 9El IR &1 984 P ;

(1) ®ddB,C D
(2) &dEAA,B,C
(3) HEACD,E
(4) HIAACE
Options :
92090691221 1

92090691222. 2
92090691223. 3



92090691224. 4

Question Number : 6 Question Id : 92090623081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaRfRadadi S eV AT I 8-
A 3freifarg
B. ICH

e

C. WA
D. HARGH
E.  Jad
A fau e faeeul 7 ¥ el IR &1 994 Sy ;

(1) @ddB,C D
(2) &ddA,B,C
(3) @auCD,E
(4) HAdAACE

Options :

92090691221. 1
92090691222. 2
92090691223. 3
92090691224. 4

Question Number : 7 Question Id : 92090623082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) TV BHH B @) 9 Bl F g
Options :

92090691225. 1
92090691226. 2
92090691227. 3



92090691228. 4

Question Number : 7 Question Id : 92090623082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) B &V HH BT @) 9 Bl F g
Options :

92090691225. 1
92090691226. 2
92090691227. 3
92090691228. 4

Question Number : 8 Question Id : 92090623083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |

(1) 32 Pl WM 87 (2) 978 Pel ol 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2
Options :

92090691229. 1
92090691230. 2
92090691231. 3
92090691232. 4

Question Number : 8 Question Id : 92090623083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |
(1)  IEH Pel o 87 (2) T Pl o 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2

Options :



92090691229. 1
92090691230. 2
92090691231. 3
92090691232. 4

Question Number : 9 Question Id : 92090623084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 4 weg fafd & g &
(1) o

(2) @I

(3) dfd

(4) ®H

= 3 71u faeseul & @ gl IR &1 =904 DI ;
(1) PadA

(2) &duB

(3) ad A 3R B M

(4) HAAC

Options :

92090691233. 1
92090691234. 2
92090691235. 3
92090691236. 4

Question Number : 9 Question Id : 92090623084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& T vs2 3l & gl 82

(1) adidl
(2) DI
3) dfd
(4) ®H

2 fau 7 fasedi 7 9 9El IR &1 944 Fifoiw :

(1) ddA
(2) &ddB
(3) &dd A 3R B I
(4) HdAC
Options :

92090691233. 1
92090691234. 2
92090691235. 3
92090691236. 4

Question Number : 10 Question Id : 92090623085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3) &M AT (4) oned Tfthd g1
Options :

92090691237. 1
92090691238. 2
92090691239. 3
92090691240. 4

Question Number : 10 Question Id : 92090623085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3)  SEH AT (4) oned Tfthd g
Options :

92090691237 1
92090691238. 2
92090691239. 3
92090691240. 4

Question Number : 11 Question Id : 92090623086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUAD (@T3) % Hewl & He! HUIoiA &1 UgaH Hifeig-
A HRd

B. faugam

C. WmUH

D. S femr

u

E JUugu
F.  Giémr i
4 fau T faeedi § | Hel TR &1 994 Do ;

(1) ABCD
(2) ADEF
(3y ABEF
(4) A CDE

Options :

92090691241. 1
92090691242. 2
92090691243. 3
92090691244. 4

Question Number : 11 Question Id : 92090623086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

QUAD (18) % H&dl & Hel HaIeiA &I ygaH Sifere-
A HRd

B. fagaam

C. wuH

D. Sefern

u

E ZUau
F. ofém sifa
12 fou 7o fasedl & | WEl 3R &1 98- Sif9e

(1) ABCD
(2) ADEF
{3y ABEF
(4) A CDE

Options :

92090691241. 1
92090691242. 2
92090691243. 3
92090691244. 4

Question Number : 12 Question Id : 92090623087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e prR i et g S A g gs &, a g _

(1) <Y aes (2) YRAEH
(3) dacldied (4) THS dIg&h
Options :

92090691245. 1
92090691246. 2
92090691247 3
92090691248. 4



Question Number : 12 Question Id : 92090623087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g R Tl Al s T A g s 8, 39 _

(1) gl aEs (2 URdAED
(3) O dIGd 4) TS 95
Options :

92090691245. 1
92090691246. 2
92090691247. 3
92090691248. 4

Question Number : 13 Question Id : 92090623088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 ¥ fFg YRR I § TORTR I W Y T A1 S 87

(M  ufgm §rd (2) UdE
(3) IO (4) HAlCH
Options :

92090691249. 1
92090691250. 2
92090691251. 3
92090691252. 4

Question Number : 13 Question Id : 92090623088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=0 ¥ by Rty Iy H URTR Id UHE Y H 391 §1d] 87

(1) ui&y €mre (2) UoE
(3) ISH (4) HAlCH
Options :

92090691249. 1
92090691250. 2



92090691251. 3
92090691252. 4

Question Number : 14 Question Id : 92090623089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B -9 $a1g HAEg ARGl (FEeE) SfEFm,2019 ¥ waftd 82

(1) fad= darem (2) & HATTY
(3)  319¥ U9 TR HAY (4) 78 HARY
Options :

92090691253. 1
92090691254. 2
92090691255. 3
92090691256. 4

Question Number : 14 Question Id : 92090623089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B H-U1 F 10 HA@g ANTRG Tl (GFEeE) i, 2019 T gaftd g2

(1) fad= garem (2) & HATGY
(3) 39 U9 TR HAWY (4) 8 HAY
Options :

92090691253. 1
92090691254. 2
92090691255. 3
92090691256. 4

Question Number : 15 Question Id : 92090623090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRarg Fafe= smar (3 41 o) A Rydfafea e urd & ga e & wiia @) $3A
&1 Aoy femm

(1) o srefed ardf (2) sy HI™
(3) T {TeHi uref @) U Ed
Options :

92090691257. 1
92090691258. 2
92090691259. 3
92090691260. 4

Question Number : 15 Question Id : 92090623090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRara Fale= smar (§ 91 o) A Rydfafea e urdf & ga e &1 @i (@) $33
&1 fFofg ferm

(1) i sfed ardf 2) TS T HEsTm
(3)  3MTH 3MEH urdf @) ST Ed
Options :

92090691257. 1
92090691258. 2
92090691259. 3
92090691260. 4

Question Number : 16 Question Id : 92090623091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHEI 31 U tfed H fa-ial &1 ®IF 918 & 26 af SR 310 ¥ 23 9f & ufdd & od fva- o 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090691261. 1
92090691262. 2
92090691263. 3
92090691264. 4



Question Number : 16 Question Id : 92090623091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B &1 U Ui H fa-iidn &1 =M o180 9 26 di 3R 21l 9 23 9f @ Ui ¥ & fba- 8 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090691261. 1
92090691262. 2
92090691263. 3
92090691264. 4

Question Number : 17 Question Id : 92090623092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD
Options :
92090691265. 1

92090691266. 2
92090691267. 3



92090691268. 4

Question Number : 17 Question Id : 92090623092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD

Options :

92090691265. 1
92090691266. 2
92090691267. 3
92090691268. 4

Question Number : 18 Question Id : 92090623093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uiE - iy, faftm, 9=, oA ok wefem v &9 W &% ©) 9ifirg, faftm & are 981 8
I, fee & a1e 941 & 33w usfan & |y =€ a1 ot i &9 & i RY W da1 g | 9=

T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) GEEY (2) d=ad
(3) offd (4) fafo=



Options :

92090691269. 1
92090691270. 2
92090691271. 3
92090691272. 4

Question Number : 18 Question Id : 92090623093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uie fiE-siftra, faftm, 9=, RAw SR wafdm ues o9 W &3 81 offfrg, faftm & @1g 91 8
e, e & a1¢ 941 § 33w wefda & wry 7€ 9e1 &l & 99 & 91 R w de1 8 | 9=
T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) EEEl (2) dad
3) sifEd (4) fafg=
Options :

92090691269. 1
92090691270. 2
92090691271. 3
92090691272. 4

Question Number : 19 Question Id : 92090623094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I d5® 4 o1 Had 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090691273. 1
92090691274. 2
92090691275. 3
92090691276. 4

Question Number : 19 Question Id : 92090623094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I A5® | 1 HaY 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090691273. 1
92090691274. 2
92090691275. 3
92090691276. 4

Question Number : 20 Question Id : 92090623095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= SEE B SIEU- 1368, 684, 228, 114, 38, ... 5U SGET AT ST FT EHI?
(1) 16 2 17

3 18 4) 19

Options :

92090691277. 1
92090691278. 2
92090691279. 3
92090691280. 4

Question Number : 20 Question Id : 92090623095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Y SEE DI SIEU- 1368, 684, 228, 114, 38, ........... 5U SEET AT HE&TT FT EFI?
(1) 16 ) 17

3) 18 4) 19

Options :

92090691277. 1
92090691278. 2
92090691279. 3
92090691280. 4



Question Number : 21 Question Id : 92090623096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A U Mg 1 Ui ¥ 36 U9 W16 SR 27 U4 I y=0i © |9 fu | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) Wt
I 1
(3) 125 % (4) 665 %
Options :

92090691281. 1
92090691282. 2
92090691283. 3
92090691284. 4

Question Number : 21 Question Id : 92090623096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A e FiEE 47 Ui ¥ 36 U9 W18 SR 27 U4 I w0 © |9 fn | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) T
I 1
(3) 125 % (4) 665 %
Options :

92090691281. 1
92090691282. 2
92090691283. 3
92090691284. 4

Question Number : 22 Question Id : 92090623097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farell BT w1 A 20 AT A, B 30 &A1 H 3R € 60 &A1 & R Iha1 g1 3 &x R 37 B iR
C & BRI A S el &1 Wil ol di GR1 H1d G S | fdbeH 5 aifil?

(1) 1s5feA 2) 12fem
3) 18fea 4) ofea
Options :

92090691285. 1
92090691286. 2
92090691287. 3
92090691288. 4

Question Number : 22 Question Id : 92090623097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefl drf &1 A 20 RATH, B 30 3T & 3R ¢ 60 AT H o2 Opar 81 ofe g R i B @R
C & GRI A DI Hergdl & Wl el d I $1Y GG H34 1 fave & @i

(1 15feA ) 12f
(3) 18fea 4) 9feq
Options :

92090691285. 1
92090691286. 2
92090691287. 3
92090691288. 4

Question Number : 23 Question Id : 92090623098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“NAZIBABAD" e H Tl &1 fobaH YR ¥ saafeyd far o Uahdr §7

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090691289. 1
92090691290. 2
92090691291. 3
92090691292. 4



Question Number : 23 Question Id : 92090623098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“NAZIBABAD" sz H auil &1 fhdl Ub R ¥ safeyd fban S wevan 87

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090691289. 1
92090691290. 2
92090691291. 3
92090691292. 4

Question Number : 24 Question Id : 92090623099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 BT 3R fasa=1 g7

(1 12 @) 31
(3) 21 @ 11
Options :

92090691293. 1
92090691294. 2
92090691295. 3
92090691296. 4

Question Number : 24 Question Id : 92090623099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 &7 3fd faea=11 S

(1) 12 ) 31
(3) 2 4y 11
Options :

92090691293. 1
92090691294. 2
92090691295. 3



92090691296. 4

Question Number : 25 Question Id : 92090623100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty Gt 1| FT HaE S (@a X &1 uE v § Wi g 9 oEi $ US e
&1 UE B, U TIYUTS &1 B+, 1/6 Bl TS B-3R 1/8 Td §U Wi o TS € 3R 11 &1 U8 A
faar

gdl-| -l

(A) TS AU HA ard faemdial &t =gAas s m 6
B) TS B+ U & drd faendffai St zmam g () 4
(€) S B YK &Y drd faemdfdi &t =amd=m . () 3
(D) US B-WHH i st gaam i (v 8

A feu 7o fawedi § 9§ Wel 3T &1 944 S

(1) (A=), (B)-(IV), (C)-(l), (D)-(I1y

(2)  (A)-(IV), (B}-(II), (C)-(I), (D)-(I)

(3)  (A)-(l), (B)-(1), (O)-(IV), (D)-(1)

(4)  (A)-(1), (B)-(), (C)-(1), (D}-(IV)

Options :

92090691297. 1
92090691298. 2
92090691299. 3
92090691300. 4

Question Number : 25 Question Id : 92090623100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4! | & Ty Gt 1| T A S (@en X &1 uP wden § Wi g S oEl $ UE e
1 US B, U HIUTs & B+, 1/6 DI US B-3AR 1/8 el BU o [ U8 C iR I &1 I8 A
foan) -

gdl-| -l
(A) TS A VI HA ard faemdfal &1 gmay dem m 6
(B) TS B+ U &3 drdl [aemffdi 1l gmam d@=m () 4
(€ U BN & ard faendiai #t gaamdsm () 3
(D) TS B- UG & ard [l #lgaaudsm (v) 8

413 fdu Tt fdeeai § 9 9el IR &1 99+ Hifeig:

(1) (A)-(0), (B)-(IV), (O)-(I1), (D)-(111)
(2)  (A-(IV), (B)-(l), (©)-(I), (D)-(1)
(3)  (A)-(IH), (B)-(1), (C)-(1v), (D)-(I1)
(4)  (A)-(n), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090691297. 1
92090691298. 2
92090691299. 3
92090691300. 4

Part B: Forensic Science

Section Id : 920906458
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906739
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Characteristics belonging to a particular group is termed as :

(1) (Objective characteristics
(2) Personal characteristics
{3} Individual characteristics

{4} Class characteristics

Options :

92090691301. 1
92090691302. 2
92090691303. 3
92090691304. 4

Question Number : 26 Question Id : 92090623101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot fafire oz & wEtun favmans] &1 &a 9@ 8 :-

(1) 37y fasmam (2) Tt fagmmm
(3) Safads faumam (4) =t fseam
Options :

92090691301. 1
92090691302. 2
92090691303. 3
92090691304. 4

Question Number : 27 Question Id : 92090623102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ted Bundy case is related to which type of the forensic evidence

(1) Foot marks (2) Bite marks
(3) Tread marks {4) Fibres
Options :

92090691305. 1
92090691306. 2
92090691307. 3
92090691308. 4



Question Number : 27 Question Id : 92090623102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< 921 HH BIHS W& % HA-H THL Y HEiod 87

(1) e () Fom (2) @ed (152) fa8
(3) v 49w (4) @
Options :

92090691305. 1
92090691306. 2
92090691307. 3
92090691308. 4

Question Number : 28 Question Id : 92090623103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Application of scientific methods in criminal investigation was suggested by an
Austrian Judge whose name was ?

(1) W. Nuremberg (2) Hans gross
(3} Vaucetich {4y P.L. Kirk
Options :

92090691309. 1
92090691310. 2
92090691311. 3
92090691312. 4

Question Number : 28 Question Id : 92090623103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUTs FEE § I fafdi & w9 o w1 g vk AfeEE o g femn o
[ELeakie) o1

-

(1)  zoeg et (2) =5 wig
(3) aEafa (4) Tue. feh



Options :

92090691309. 1
92090691310. 2
92090691311. 3
92090691312. 4

Question Number : 29 Question Id : 92090623104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as reason (R) :

Assertion (A): The application of physical properties of blood and the principles of
fluids in motion forms the hasis for interpretation of location and
directionality of blood stains

Reasons (R} : Az it is not related to the foree or forces that produced them

In the light of the above statements, Choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) {A) is correct but (R) 15 not correct

(4) (A) 18 not correct but (R) is correect

Options :

92090691313. 1
92090691314. 2
92090691315. 3
92090691316. 4

Question Number : 29 Question Id : 92090623104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 %UF fou MU B« U AMGFHIA (Assertion (A)) % ¥4 H fafEd & af gE0 356 FR9
(Reasons (R)) % ®9 7 :

AGHA (A) : @A F Hifow -9 SR T § WA 741 & HEra & S, W g
F1 Fafeafa 3w fesmesar 2 smaw il #w@ 2

FA (R) : wE 6 98 39 99 7Y 96 § HE9d 98 g & 91 6 3% 3099 (Td)
Fd 2|
I FYF % Ao 4, = fou 7o famedi o § 999 I9GE I H 9594 Hiag

(1) (A) 3R (R) 591 @&l & 3R (R), (A) 1 @&l =men 2

(2)  (A) 3R (R) <Hi @&l &, wifh (R), (A) <1 @l =amen 74 2
(3) (A) ¥ 2, wifep (R) 981 78 2

(4) (A FE 78 8, S (R) w2

Options :

92090691313. 1
92090691314. 2
92090691315. 3
92090691316. 4

Question Number : 30 Question Id : 92090623105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following universities in India first started forensic science programme?

(1) Punjabi university (2) Panjab university
(3) Dr. H.8. Gaur university (4) Jawahar Lal Nehru university
Options :

92090691317. 1
92090691318. 2
92090691319. 3
92090691320. 4

Question Number : 30 Question Id : 92090623105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i & Fefafad e favafaaem 3 e ar wiias e FEFs (Jmm) i 3w
T e

(1) vt Tavafemem (2) v favafaeaeE
(3) = wa.uH. 7R favafaae (4) TETEAS JE6 g
Options :

92090691317. 1
92090691318. 2
92090691319. 3
92090691320. 4

Question Number : 31 Question Id : 92090623106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 18 labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) :  First priority at crime scene in to provide first aid to the injured if
any and to protect the crime scene.

Reasons (H) :  Not to protect the crime seene diligently may lead to destruction of
the evidence

In the light of the above statements, choose the most appropriafe answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{3} {A) 18 correct but (R) 1s not correct

(4) {A) 1s not correct but (R) is correct

Options :

92090691321. 1
92090691322. 2
92090691323. 3
92090691324. 4

Question Number : 31 Question Id : 92090623106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 %Y fou U B« oF wEYA (Assertion (A)) % ¥ H fofEd 2 a1 @0 39 FA0
(Reasons (R)) % &9 1 :

FiaFEE (A):  FAWY 94T ©=F W TEd] wgbea 3fe $iE g9Ee ==fe 8 9 358
WTHh ITEH HAT UF ITT0E T2 T i FEd TE1 2T 2

= (R) : A1 T9A I GUEd T8 hA1 I, SFEERE F9 § HET F A% 650 9
&I 3R & o1 FHa 2l

IUUT FYH o WA H, A 5 T Twedi § 3§99 39w I 1 954 i
(1) (A) 3 (R) g1 &1 € 30 (R), (A) i & =am=n &
(2) (A) 3R (R) g1 98 &, S (R), (A) T 78 =gmemn & 2

(3) (A) = &, @A (R) 98 781 8
(4)  (A) = 7 &, wifT (R) 961 B

Options :

92090691321. 1
92090691322. 2
92090691323. 3
92090691324. 4

Question Number : 32 Question Id : 92090623107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perjury iz define as

(1) Willful utterance of falsehood
(2} In act committed with court premises
i(3) Failure to sign summons

{4} Failure to appears as witness

Options :

92090691325. 1
92090691326. 2
92090691327. 3
92090691328. 4

Question Number : 32 Question Id : 92090623107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e -men weglt 39 =9 4 ufearfia =i 2

(1) Tows & JFege = 399 (2) e g | e = e e
(3) EEF WA H g A= (4) TETE % F9 § TEd HH ° ke

Options :

92090691325. 1
92090691326. 2
92090691327. 3
92090691328. 4

Question Number : 33 Question Id : 92090623108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement [ : When blood stains are studied with respect to their geometry and
distribution on wvarious surfaces, they can reveal wvaluable
information for the reconstruction of events that produced

bloodshed

Statement [1 : The pattern of splatter determines the distance between target
surface and origin of time of hloodshed

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement | and Statement Il are false
(3) Statement [ 1s true but Statement 11 is false

(4) Statement [ 18 false but Statement I1 12 true

Options :

92090691329. 1
92090691330. 2
92090691331. 3
92090691332. 4

Question Number : 33 Question Id : 92090623108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e € e fem e 2

sy 1: w9 fafay a8 w = 9= 1 37 =iafa 3T Sore & Hed 9 3193 9 2,

Al 388 @I BH (Wd) § Saiud 93 & [EE % 9] H gogee SR
9TH & gt &l

w9 11 : 90 & fo@re =1 T2 (ufaey) @fésm gdg 37 @9 & 999 & 909 949 &

e gl =i freifa # 2

ITURE HUF % el o, S fou mu faeweni § 8 meE 39w 39 o 99 i

(1)
(2)
(3)
(4)

FuA [ 3R 11 gFi =el 2
Fud 1 3R [ g1 Tod 8
Fu 1 981 8, ©ifehd &9 11 Teta 8
FYA 1 7T 2, it e [ 98 8

Options :

92090691329. 1
92090691330. 2
92090691331. 3
92090691332. 4

Question Number : 34 Question Id : 92090623109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these general methods are used for isolation or concentrating accelerants
from the debris (charred material) collected from crime scene and forwarded to
FSL/CFSL for identification?

(A)
(B)
()
(D)

Steam distillation
Silver nitrate staining
Solvent extraction

Cold head space

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B), (D) only
(A), (C), (D) only
(A), (B) only
(B), (D) only

Options :



92090691333. 1
92090691334. 2
92090691335. 3
92090691336. 4

Question Number : 34 Question Id : 92090623109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=H g HiH-8 gw fafag 1 vg@n svny-we ¥ guiea eaiE (I e 8§ ndes
FUF] | B Tl I B UE gEAT (FEEET) B UF UH US /5 UF U UE & 99 9
7 o T 27

(A) 99 HEIA

(B) o= amgde sfipam
(C) foeras frepdu (f=re)
(D) ¥id g @4

H feu U fawedl § | wE I w1 994 Fifau
(1) =& (A), (B), (D)

(2) %ad (A), (C), (D)

(3) @ (A), (B)

(4) === (B), (D)

Options :

92090691333. 1
92090691334. 2
92090691335. 3
92090691336. 4

Question Number : 35 Question Id : 92090623110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 ;

List 1 List IT
{A) bStarch-lodine assay (I} Feces
{B) Acid phosphate (II) Saliva
(C) Para-dimethylaminocinnam- (IIT) Urine
aldehyde
(D) Urcbilinoids (IV) Semen

Choose the correct answer from the options given helow :

(1)  (A)-(IV). (B)-(I), (C)-(I1I), (D)-(IT)
(2) (A, (B)-(II), (C)-(IL), (D)-(IV)
(3) (A1), (B)-(IV), (C)-(11I), (D)-(I)
(4)  (A)-IID, (B)-(IL), (C)-(I), (D)-(IV)

Options :

92090691337. 1
92090691338. 2
92090691339. 3
92090691340. 4

Question Number : 35 Question Id : 92090623110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=H-1 % Ty F=-11 1 o= FHife
-1 g1
(A) = ETE favemm (I) ==
(B) ufHE wivhe (II) =m
(C) U - erEfurse FHHI-fmmuegeEes (1) 3
(D) FufaferTsEE (IV) &t

i feu o fa=ewi § @ FE I F1 997 HifAU

(1) (A)-AV), (B)-(I), (C)-(I1L), (D)-(1I)
(2 (A)-(D). (B)-(I1I). (C)-(ID), (D)-AV)
(3)  (A)-(D), (B)-(IV), (C)-(11T), (D)-(I)
(4)  (A)-(IID), (B)-(1I), (C)-(D), (D)-(IV)



Options :

92090691337. 1
92090691338. 2
92090691339. 3
92090691340. 4

Question Number : 36 Question Id : 92090623111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bloodstain pattern interpretation may provide information to the investigator in
mMAany areas, except

{A) Origin (s) of the blood stains and distance between impact areas of blood
spatter

{(B) Type and direction of impact that produced blood stains

(C)  Object/s that produced particular blood stain patterns and position of vietim

(D)  Age of the vietim

(E) Sex of the victim

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A, (B). (C) only
(3) (D) only
(4} (D) and (E) only
Options :
92090691341. 1
92090691342. 2
92090691343. 3
92090691344. 4

Question Number : 36 Question Id : 92090623111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt e siftfem @y Sed (wfaed) - sgmemn, Steshal @ IS &5 § THHr]
e T Hehdl & 7

(A) YRl & HiA (3gH) 3R @A - foewd | 99ma &3 & ge|

(B) e & wan 3R fown fowd @@ v=e weqa (3799) g0

(C) 9 verd oy famd faferse wa-ven gfoey ik difga 61 feafa = war ==m)

(D) a1 w11y

(E) ifga < fom

= feu mu fawea § @ 8 I #1999 SifEu
(1) % (A) 3 (B)

(2) == (A), (B), (O)

(3) ==t (D)

(4) == (D) 3R (E)

Options :

92090691341. 1
92090691342. 2
92090691343. 3
92090691344. 4

Question Number : 37 Question Id : 92090623112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Section 45 of Indian evidence Act deals with which of the following

(1) Eve witness (2}  Hostile witness
i(3) Hearsay witness (4) Expert witness
Options :

92090691345. 1
92090691346. 2
92090691347. 3
92090691348. 4

Question Number : 37 Question Id : 92090623112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Hieg stafagy i aw-45 fAefataa § 4 feag gafuq 27

(1) TraErE (Ena) (2) wfa9eft TaTE
(3) 3T (FAT-GAwE) = (4) Torms mamE
Options :

92090691345. 1
92090691346. 2
92090691347. 3
92090691348. 4

Question Number : 38 Question Id : 92090623113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reazon (R).

Agsertion (A) : While photographing a scene of erime, use of scale is important

Reasons (H) :  Actual size of the objects in a photograph eannot be assessed without
having scale there

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3} (A) 1s correct but (R) 1s not correct

{4) {A) 1s not correct but (R) 1s correct

Options :

92090691349. 1
92090691350. 2
92090691351. 3
92090691352. 4

Question Number : 38 Question Id : 92090623113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= &1 ®9F fqu 70§« uF #fETA (Assertion (A)) & ¥9 § fofgad & 41 ggu 39 S0
(Reasons (R)) + ®9 9 ;

Al (A) :  Todt sooy wearee 1 99 Wi g S R, @ 9 S S mEeg
g 2l

FA (R) : famT w9t % SRS § 95| % andias AR 6l T8l wicqd a1 A
HeRaT|

IR Y % Aed °, = fou v fawedi § ® 999 39w I 954 Fifew

(1) (A) 3R (R) g¥1 @@l & 31 (R), (A) F1 981 = 8

(2)  (A) R (R) gFi 56 &, @fe (R), (A) 1 9 =3 741 2
(3) (M) @e &, wfda (R) =& 78 2

(1) (A)=é 79 2, @l (R) wEl 2

Options :

92090691349. 1
92090691350. 2
92090691351. 3
92090691352. 4

Question Number : 39 Question Id : 92090623114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Narcotic drugs and psychotropic substance Act was passed in which of the following
vear?

(1) 1981 (2) 1985
(3) 1975 (4) 19=6
Options :

92090691353. 1
92090691354. 2
92090691355. 3
92090691356. 4

Question Number : 39 Question Id : 92090623114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafdfaa TFa 99 9 @os o1 U9 99096 559 (JieRieE g1 OIS HiEhici U HeHdH )
Ftaftay i foman 917

(1) 1981 (2) 1985
(3) 1975 (4) 1986
Options :

92090691353. 1
92090691354. 2
92090691355. 3
92090691356. 4

Question Number : 40 Question Id : 92090623115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Crime scene search is earried out in a methodical pattern which
may be dictated by the location. size or conditions of the scene.

Statement I  :  Typical patterns are spiral, strip or lane and grid

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement 1 and Statement 11 are incorrect
(3) Statement [ is correct but Statement I1 is incorrect

{4) Statement [ 1s incorrect but Statement I1 1s correct

Options :

92090691357. 1
92090691358. 2
92090691359. 3
92090691360. 4

Question Number : 40 Question Id : 92090623115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



49 g wya few e §

Fyq 1 TARgd T O (FHEH) Hegaredd 24 (9faEY) o g=iieq @ A g A

T goamye 6t safeafa, s sy eman & g ot 5 ot 2

Fo 11 wElus G (vioew), |fte, foga (981) s1war oF 3R i 8n 2

IR HYA % Helh °, i feu o fawedi § 8§ 568 I9E I A 994 hIag

(1)
(2)
(3)
(4)

YA [ 3 11 g =l &
w9 1 3 11 M1 7o 2
FuA 1 H&t 2, T %94 11 7o 8
U 17T 2, eifehe e 11 a8 &

Options :

92090691357. 1
92090691358. 2
92090691359. 3
92090691360. 4

Question Number : 41 Question Id : 92090623116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements ;

Statement I : Aperture size and depth of field in photography are related
inversely.
Statement I1 : Larger aperture will limit the zone of sharp focus

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)

Both Statement I and Statement 11 are correct
Both Statement 1 and Statement Il are incorrect
Statement I 12 correct but Statement 11 18 incorrect

Statement I 1= incorrect but Statement 11 15 correct

Options :

92090691361. 1
92090691362. 2
92090691363. 3
92090691364. 4



Question Number : 41 Question Id : 92090623116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=ie g Wy fgu e E
F91:  FRETH T Y AFR T &F $HT TR ShaEI ®9 8 F6iad g2 8
o 11 : garh W, 49 BIHE & &9 (IF) =1 difaa Fom)|

3T HYA o el H, = 6w T fawedi § 8§ 999 I9g® I H 95 HIfa

(1) =2 13 118+ =81 3
(2) =¥ 1 3 11 g4 e &
(3) = 198 2, ofea #eF 11 7Terd 2
(4) == 17ea 2, i %A 1198 8

Options :

92090691361. 1
92090691362. 2
92090691363. 3
92090691364. 4

Question Number : 42 Question Id : 92090623117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Restoration of erased writings written with iron based inks can be done with which
of the following

(1) Sulphuric acid fumes (2) Sulphahydril fumes
(3 Sulphocyanic acid fumes (4) Sulphur dioxide fumes
Options :

92090691365. 1
92090691366. 2
92090691367. 3
92090691368. 4

Question Number : 42 Question Id : 92090623117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e i wel | fo mu, fer fou T feras i o = ffofaa 5 4 fead 61 =
e &7

(1) wewfE 7 g (2) HEwTETEIST g0
(3) Fewifas 3= vy (4) TeH SEATFIES Y9

Options :

92090691365. 1
92090691366. 2
92090691367. 3
92090691368. 4

Question Number : 43 Question Id : 92090623118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Examination of a document under U.V. radiation may help in
detection of sympathetic ink writings.

Statement II  :  Constituents of fluid used to write secret writing may give
fluorescence on exposure to U.V. radiation

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement | and Statement Il are incorrect
i3 Statement [ 12 correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement Il 1s correct

Options :

92090691369. 1
92090691370. 2
92090691371. 3
92090691372. 4

Question Number : 43 Question Id : 92090623118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 g1 =y feu Tw E
Fo 1w -falwm (e amee) fafem & sl eaes $1 gl 9=, 35
Tl -forats 1 var & | "EEE B Al 2

FY 11 TH oi@ Hi g d§ T (559) & d9csh, WaH! [ &g SeH™ W Sfidiy
Serd X T &

IR FY & AT °, J= fou v fawed O § 999 399 39 1 994 HIE0

(1) = 1R IIEH 981 @
(2) =Y9 1 3R I EF e 2
(3) =97 1 HE 8, wifr 99 [ 7ed &
(4) = 1790 B, w9 11 T8 &

Options :

92090691369. 1
92090691370. 2
92090691371. 3
92090691372. 4

Question Number : 44 Question Id : 92090623119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DFQO reagent is used to visualize latent finger marks by reacting with which of the
following components present in latent finger prints

(1) Fatty acids {2y  Sodium chloride
(3) Iron (4) Amino acids
Options :

92090691373. 1
92090691374. 2
92090691375. 3
92090691376. 4

Question Number : 44 Question Id : 92090623119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fg7d 3 B F TEHFA (3G) F ¥ AW A-vM A freae Fratatan e
g2 o WY AR w0 ° 2 us 30 st 1 sy e S 87

(1) =HEF 37 (2) Hifzaq FANTES
(3) @ (4) A 3=

Options :

92090691373. 1
92090691374. 2
92090691375. 3
92090691376. 4

Question Number : 45 Question Id : 92090623120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A) : Shading is demonstrated most prominently in writings written with
fountain pen

Reasons (R):  Split in the nibs of pen influences the ink supply to the writing
strokes.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {(A)
{3) {A) 15 correct but (R) is not correct

(4) {A) 18 not correct but (R) is correct

Options :

92090691377. 1
92090691378. 2
92090691379. 3
92090691380. 4

Question Number : 45 Question Id : 92090623120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 &1 %Y U U § : TF HEHYA (Assertion (A)) F ¥ H ffEgd g 91 gE0 39H FR9
(Reasons (R)) & ®9 1 :

AMFHYA (A) : W& (@rfia &a1), $13e7 0 9 fordt 73 fomamee d gaifus yq@ =9 9
yefdta gt 21

FAT (R) : FH & & B G (BIEA) F e Wi, W@ i A W I9E
Tl 8|

I HH o el H, = 10 TC i § § T8 I95F I 6l 944 iU

(1) (A) 3R (R) §91 @&l & 3R (R), (A) F1 @1 =men 2

(2) (A) 3R (R) gHi 7t €, o7 (R), (A) i o€ =m=n 38 2
(3) (A wé 2, «if A (R) w8l 787 2

(4) (A ¥E 6 2, @ (R) 98 &

Options :

92090691377. 1
92090691378. 2
92090691379. 3
92090691380. 4

Question Number : 46 Question Id : 92090623121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 digit classification system is also known by which of the following

(1) Henry-Vancetich system (2) Henry-Galton system
(3) ALW system {4) Henry-Herschel system
Options :

92090691381. 1
92090691382. 2
92090691383. 3
92090691384. 4

Question Number : 46 Question Id : 92090623121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 3 wifs ugh, & =i e 3= am 8 o 59 9w 27

(1) Eti-arafesa vafa (2) - uzf
(3) U=y Tgh (4) Fi-=e gl
Options :

92090691381. 1
92090691382. 2
92090691383. 3
92090691384. 4

Question Number : 47 Question Id : 92090623122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A film camera captures the image on a light sensitive film which is composed of

(1) Silver nitrate (2)  Silver nitrite
i(3) Silver halide {4) Silver phosphate
Options :

92090691385. 1
92090691386. 2
92090691387. 3
92090691388. 4

Question Number : 47 Question Id : 92090623122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#iz Thew &0 Tl ofa & v dad feen w wfnda (Fen) # & s Frefefaa
Topedt = B 27

(1) foaeew AmEee (2) faeat TmEeEe
(3) oot gomss (4) Toeat wighe
Options :

92090691385. 1
92090691386. 2
92090691387. 3
92090691388. 4



Question Number : 48 Question Id : 92090623123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I wath Last 11 :

List 1 List 11
(A) Ordway Hilton (I) Finger prints
(B) Agzizul Haque (IT) Personal identification
(C) Bertillon (ITI) DNA analysis
(D) Alec Jaffery (IV) Questioned documents

(Choose the correct answer from the options given below :

(1) (A)-(T). (B)-(IV), (O)-(IT), (D)-(I1T)
(2)  (A)-IV), (B)-(D), (C)-(II), (D)-(I1I)
(3 (A)-D. (B)-(IV), (C)-(I1I). (D))
(4)  (A)-(ID, (B)-(ID), (C)-(I), (D)-(IV)

Options :

92090691389. 1
92090691390. 2
92090691391. 3
92090691392. 4

Question Number : 48 Question Id : 92090623123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % |y gei-11 =1 fierm Hifa

-1 -1
(A) =1Ed fawed (1) sifer @19
(B) 3refige &= (ID) Fsft we=m
(C) féeeti (I11) $i v ¢ fagemm
(D) UeTh k! (IV) Hvg egi=

e few o fawedt 9§ @€ 3 w1 =94 Hifaw

(1) (A)-D. B)-(IV), (C)-(1I). (D)(I1L)
(2)  (A)-(V), (B)-(D), (C)-(ID), (D)-(11I)
(3)  (A)-(1D), (B)-(AV), (C)-(1D), (D)-(I)
(4)  (A)-(I1I), (B)-(II), (C)-(I), (D)-(IV)

Options :

92090691389. 1
92090691390. 2
92090691391. 3
92090691392. 4

Question Number : 49 Question Id : 92090623124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

List I List 11
(A) Site of sperm maturation (I) Spermatogenic cell
(B) Testosteron production (IT) Seminiferous tubules
(C) Site of spermatogenesis (I1I) Leydig cells
(D) Sperm forming cells (IV) Epididymis

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(I)
(2)  (A)-(D, (B)-(IT), (C)-(11D), (D)-(IV)
(3)  (A)-(III), (B)-(II), (C)-(1), (D)-(IV)
(4)  (A)}-(IV), (B)-(I), (C)-(I1T), (D)-(II)

Options :



92090691393. 1
92090691394. 2
92090691395. 3
92090691396. 4

Question Number : 49 Question Id : 92090623124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wHl-1 % | g=H-11 %1 e Hifaw
-1 = -11
(A) IER] RYEEAT-EH (I) oS
HifwreR]
(B) TR 301EA (IT) =fFFE gEed
(C) TIHeHEE-w=IH (I11) =Hifem FifsrFm

(D) e fmiveert FifieT  (IV) wiEemig

= feu mu fasedi 4 @ w8 3@ w1 999 Hifaw

(D (A)-(IV), (B)-(IID), (C)-(IT), (D)-(T)
(2) (A1), (B)-(I), (C)-(1I), (D)-(IV)
(3) (A1), (B)-(1D), (C)-(D), (D)-(IV)
(4  (A)-(IV). (B)-(D), (C)-(I1L), (D)-(II)

Options :

92090691393. 1
92090691394. 2
92090691395. 3
92090691396. 4

Question Number : 50 Question Id : 92090623125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dimeric loci (in regard of DNA analysis) are not used for forensic applications
because

(&) Net abundant in human genome

(B)  Occasionally results in stutter bands

(C) Do not work with the fluorescent dye labelled primers

(D)  Excessive slippage during amplification results in a large number of spurious
bands, thus difficult to interpret

(E) Not present in gex chromosomes

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (A) and (B) only
(3) {A) and (D) only
(1) (B) and (1)) only

Options :

92090691397. 1
92090691398. 2
92090691399. 3
92090691400. 4

Question Number : 50 Question Id : 92090623125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wi @ (AU fovew & HeY §) BRiES J9E0 &g A81 999 U 1d 8 it -

(A) 9a S| ° fFae e

(B) Ffi-Fft weger |4 # wfomm 3 #)

(C) wiadia s sifsa wem & Wy % 38 + 2

(D) wa9s = @94 us [6EeH, % 91 9ol 9gd @ed1 H YO ol 8, 36 YN
THeh STTEAT HioT Bl &l

(E) formm (&98) Toi-5@i § & 9w = 21

e fou o fawedi § | T8 I 1 99 Hifa
(1) e (A) F:E(C)
(2) EE (A) 3R (B)
(3)  FHa (A) D)
(4) =l (B) 3R (D)

Options :

92090691397. 1
92090691398. 2
92090691399. 3
92090691400. 4

Question Number : 51 Question Id : 92090623126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are fat soluble vitamins

(A Vitamin A
(BY Vitamin B
() Vitamin D
Dy Vitamin E
() Vitamin K

Choose the correct answer from the options given below :

(1) (A), (B), (C) only
(2)  (A), (B), (E) only
(3) (A, (C), (D), (E) only
(4) (A, (B), (D), (E) only



Options :

92090691401. 1
92090691402. 2
92090691403. 3
92090691404. 4

Question Number : 51 Question Id : 92090623126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafas 4 9 =9 987 § gomsie 9T £7

(A) o= A
(B) faarm= B
() faaf= D
(D) foaf= E
(E) Taafm K

= Teu mu fasedl § § wE 3T w1 99 b
(1) == (A), (B), (C)

(2) =EE (A), (B), (E)

(3) == (A), (C). (D), (B)

(4) == (A), (B), (D), (E)

Options :

92090691401. 1
92090691402. 2
92090691403. 3
92090691404. 4

Question Number : 52 Question Id : 92090623127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factors are not rezponsible for the clotting of blood?

(A) Vitamin K

(By Calcium

() Prostacyelin

(D) Plasmin

(E) Fibrinogen

(Choose the correct answer from the options given below :

(1)  (A), (B), (E) only
(2)  (C), (D), (E) only
(3) (A, (B). (C) only
(4) (C), (D) only

Options :

92090691405. 1
92090691406. 2
92090691407. 3
92090691408. 4

Question Number : 52 Question Id : 92090623127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=fafad § 5 $F-8 s Ea-Thed o SorerEl 981 87
(A) T K
(B) whfcemm
(C) R
(D) EEEA
(E) wrgfemram
s e T faedi 3 & e I i
(1) =& (A), (B), (E)

(2) waa (0), (D), (E)
(3) = (A), (B), (O)
(4) #Fa|a (), (D)

Options :



92090691405. 1
92090691406. 2
92090691407. 3
92090691408. 4

Question Number : 53 Question Id : 92090623128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : The three basic steps of respiration are pulmonary ventilation,
external respiration and cellular respiration

Statement 11 : For inhalation to oceur, air pressure in alvelol must be less than
atmospheric pressure

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement I and Statement 11 are incorrect
(3} Statement [ is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement 11 is correct

Options :

92090691409. 1
92090691410. 2
92090691411. 3
92090691412. 4

Question Number : 53 Question Id : 92090623128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FH 1 I9ET F o T 0 TeRAG S9N, 969 T8 3R HIEehE T6Ed ol

Fuq 11 : 330 Y984 &F &, SIH SN Ufeadiorl § 9REE, JaEig 9 W 3 69
&l A BT TRy

I FHYF 6 Al 4, A= feu 7u fashedi 1 8 998 I9gF I 1 994 S0

(1) =¥ 1 3 1124 561 8
(2) HF 1 3 I EF1 Tea 7
(3) H 158 2, sfe FuA 11 7o 2
(4) w57 1704 8, o 99 [ 96 2

Options :

92090691409. 1
92090691410. 2
92090691411. 3
92090691412. 4

Question Number : 54 Question Id : 92090623129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Agsertion (A): The Keratin matrix protects mt DNA from degradation.
Reasons (R) : mt DNA i1s embedded in the Keratin matrix of hair shaft cells, thus

preferred in analysis of maternal lineage

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 15 correct but (R) 1s not correct

{4) (A) 1s not correct but (R) is correct

Options :
92090691413. 1



92090691414. 2
92090691415. 3
92090691416. 4

Question Number : 54 Question Id : 92090623129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= &1 YA fou 0§ : UH AHEA (Assertion (A)) % ¥ § fofigd 8 a1 g@a 396 FR9
(Reasons (R)) % ®9 9 :

sferys (A) ;. AT 3egE W A 2w Ul e § gifam v 2l

= (R) - g & € UA T A TR IR SRS % i 3TeIE 0 3 TR
& 2, FafeTe Ag-aw T o faveror § =t @ 2

IR HYA % Ier °, = fou v faeedi § § mEE 39 I #9394 S

(1) (A) 3R (R) 21 @8 & 30 (R), (A) 1 78 =re 2

(2)  (A) 3 (R) THT = £, =i (R), (A) 1 =& =men 8 2
(3)  (A)@El &, =il (R) el 78 8

(4)  (A) = 78l 8, afFT (R) 581 2

Options :

92090691413. 1
92090691414. 2
92090691415. 3
92090691416. 4

Question Number : 55 Question Id : 92090623130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the fate of iron that is released during the breakdown of damaged red
blood cells?

(1) It 1s used to synthesize protein

(2) It is transported to the liver where it become part of bile

(3) It attaches to transferrin and is transported to bone marrow for use in
haemoglobin synthesis

(4} It 15 converted into urchilin and excreted in urine

Options :



92090691417. 1
92090691418. 2
92090691419. 3
92090691420. 4

Question Number : 55 Question Id : 92090623130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 1ol T HIVERIAT & g2 (97) & Tug fFoitad «iig 1 e (wiom) = gm?

(1) =5 ITEN WA & Hyeimd HH § B 2l

(2) =& 7Fa (sfi) | viEted gan 2 9@ 98 e 95e 1 e 5 o gl

(3) TE THREA § U a1 2 3R Freies e § A 8 ARy-gsen O d9ned
el 2|

(4) Fufafeq # qi@fda g & 37 g3 § It s 2|

Options :

92090691417. 1

92090691418. 2

92090691419. 3
92090691420. 4

Question Number : 56 Question Id : 92090623131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kwashiorkor disorder is caused by deficiency of

(1} Carbohydrate (2} WVitamins
(3) Lipids {4) Proteins
Options :

92090691421. 1
92090691422. 2
92090691423. 3
92090691424. 4

Question Number : 56 Question Id : 92090623131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FarvETER fawr (1) Frefafes 5 fresh = (30 3 #mr 27

(1) HieiEEge (2) Toaf=
(3) fafs (1) wEH
Options :

92090691421. 1
92090691422. 2
92090691423. 3
92090691424. 4

Question Number : 57 Question Id : 92090623132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Creatinine test 15 used to check for the presence of

(1) Urine (2 FEarwax
(3 Semen (4) BSaliva
Options :

92090691425. 1
92090691426. 2
92090691427. 3
92090691428. 4

Question Number : 57 Question Id : 92090623132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) (2) =M = HA
(3) H (4) =
Options :

92090691425. 1
92090691426. 2
92090691427. 3
92090691428. 4



Question Number : 58 Question Id : 92090623133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these 12 an animal fibre

(1) Mohair (2) Shahtoosh
i(3) Polyster (4) Nyvlon
Options :

92090691429. 1
92090691430. 2
92090691431. 3
92090691432. 4

Question Number : 58 Question Id : 92090623133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFferfiga # & = = vy () w27

(1) e (2) wmEqA
(3) ifereeX (4) Ee
Options :

92090691429. 1
92090691430. 2
92090691431. 3
92090691432. 4

Question Number : 59 Question Id : 92090623134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deviation from Beer's law arises due to

{A) If monochromatic light is used

(B) Width of the shit 18 not correct

(C)  Presence of impurities like fluorescence compounds
(D)  lonization of colored substance

(E)  If solution undergoes polymerization

Choose the correct answer from the options given helow :

(1) (A, (B) only

(2)  (A) (B). (C) only

(3) (A, (C). (D), (E) only
(4)  (B). (C), (D). (E) only

Options :

92090691433. 1
92090691434. 2
92090691435. 3
92090691436. 4

Question Number : 59 Question Id : 92090623134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=ferfiga o e = i = fagra @ fames 30— 2 8-

(A) 3fe vwavl W =1 9= R ST 21
(B) @ =i =iers wE TE |

(C) wfadifn =ifii S g i I9fefql
(D) A 9T =1 S

(E) =fg faemm sgerehem|

= feu o ol § § W I @ w9 S
(1) e (A), (B)

(2) @& (A), (B), (O)

(3) ae (A), (0). (D). (B)

(4)  aa (B), (C), (D), (E)

Options :



92090691433. 1
92090691434. 2
92090691435. 3
92090691436. 4

Question Number : 60 Question Id : 92090623135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Rocket immuno electrophoresis is performed in agarose gel to
analyse antigen-Antibody infraction

Statement II  :  Amount of antigen quantified by measuring the light of rocket

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement | and Statement II are incorrect
(3 Statement [ is correct but Statement 11 1s incorrect

(4) Statement [ is incorrect but Statement 1l is correct

Options :

92090691437. 1
92090691438. 2
92090691439. 3
92090691440. 4

Question Number : 60 Question Id : 92090623135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F99 1: TISHA-dEISl FARA] % (G 7] ke SHAScERBIOE H e
WIS o ¥ o = 21

HUH 11 : UOiaH =l T T Uehe =hl HaTs &1 HT99 ek gioam fuifa fean sman 21

I FHU + HeE 4, A fou 7 fawedt § ¥ g9 I9gE IO H 94 HI90

(1) =g 13 eq 98 &

(2) =g 3R g T 8

(3) w7 156 2, o %99 [ 7eia &
(4) =Y | 7ea 2, o e 11 58 8

Options :

92090691437. 1
92090691438. 2
92090691439. 3
92090691440. 4

Question Number : 61 Question Id : 92090623136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In UV-visible spectroscopy, which of the following transitions are observed

Ay o-o*
(B) wu-o*
(C) w—x*
D) =x-x*

(E) u—nu*

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E) only
(2) (A (B). (D), (E) only

(3) (B, (C), (D), (E) only

(4)  (A), (B), (D) only

Options :
92090691441. 1



92090691442. 2
92090691443. 3
92090691444. 4

Question Number : 61 Question Id : 92090623136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W 799 Ty fawe b, Fratafes 9 e afae @ g7

(A) o-0
(B) n-o
(C) n-x
D) =-x
(E) 7x-u

e feu U fa=ewi § 9 9E I T 9597 S0
(1) &ad (A), (B), (C), (D), (E)

(2) %8 (A), (B), (D), (E)

(3) == (B), (C), (D), (E)

(4) a4 (A), (B), (D)

Options :

92090691441. 1
92090691442. 2
92090691443. 3
92090691444. 4

Question Number : 62 Question Id : 92090623137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  The efficiency of separation in eolumn chromatography is increased
as number of theoretical plates increases.

Reasons (R):  The efficiency of separation increases due to inerease in number of
equilibrium of analyte in corresponding mobile phase and stationary
phase

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 18 not correct but (R) is correct

Options :

92090691445. 1
92090691446. 2
92090691447. 3
92090691448. 4

Question Number : 62 Question Id : 92090623137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 YA QT T ® : U AMGEEA (Assertion (A)) % ¥ H TAREd § 1 gE0 396 FAT
(Reasons (R)) $ ®9 7 :

HiweE (A) :  Fiew avieiEd faae § gyERw (arem) &6 w4 3fg 95 & e g
S8 Hgifren widl i Jen § afg 7t =t 21

F7 (R) : Tifdeter FreeaT v wifah FEE | TS % §FA (Hde) i e |
gfg & FR1, J9FR (Togmem) i wom & ghg & 2|

I FYA = e 5, < fou U fomwmedi § § 999 I9E I F 9394 HIag

(1)  (A) 3 (R) TH1 @81 € 30 (R), (A) =1 el =re 8

(2) (A) FR(R) SHT HE &, =T (R), (A) i wél =arean T8 2
(3)  (A)@é 2, «ifd (R) w8l 78 2

(4) (A wE 78 7, af (R) w81 2

Options :

92090691445. 1
92090691446. 2
92090691447. 3
92090691448. 4

Question Number : 63 Question Id : 92090623138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T wath List I1:

Last 1 Last 11
(A) PI (I) FT-IR
(By M/Z (IT)y IS0 electric focusing (IEF)
(C) Dipole moment (IIT}) Gel exclusion chromatography
(D) Size and mass (IV) Mass spectrometry

Choose the correct answer from the options given below :

(1) (A)-D, (B)-(aV), (C)-(D), (D)-(I1D)
(2) (A, (B)-(ID). (C)-(I1T), (D)-(IV)
(3 (A)-(IV), (B)-(I). (C)-(ID), (D)-(IID)
(1) (A)-(I), (B)-(D), (C)-(IV), (D)-(ID)

Options :
92090691449. 1



92090691450. 2
92090691451. 3
92090691452. 4

Question Number : 63 Question Id : 92090623138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wet-1 % |y ge-11 1 e $if
-1 -1
(A) PI (I) FT-IR
(B) M/Z (L) smeer (89) seifags
FIFET (IS UF)
(C) Taga-3mf (I1T) 31 3A9a= FviciEs faem

(D) FFRE geEE (IV) 780 TEi
+r= feu Tu faweql 9 @ w8 39 =7 =99 Hifan

(1) (A)-I), (B)-(IV), (C)-(I), (D)-(I1I)
(2 (A)-(D), (B)-(ID), (C)-11), (D)-(IV)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)~(I11)
(4)  (A)-(IID), (B)-(), (C)-(IV), (D)-(II)

Options :

92090691449. 1
92090691450. 2
92090691451. 3
92090691452. 4

Question Number : 64 Question Id : 92090623139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 ;

List 1 List 11
(A) Nebulization Iy GC
(B) ICP (IT) AAS
(C) KBr Pellet (I1I) IR
(D) Pyrolyzer (IV)y MS

Choose the correct answer from the options given helow :

(1) (A)-(D), (B)-(II), (C)-(I1). (D)-(IV)
(2)  (A)-(IV), (B)-(D), (C)-(II), (D)-(11)
(3) (A1), (B)-(IV), (C)-(I1T), (D)-(I)
(4)  (A)-(IID), (B)-(1I), (C)-(I). (D)-(IV)

Options :

92090691453. 1
92090691454. 2
92090691455. 3
92090691456. 4

Question Number : 64 Question Id : 92090623139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.1 % @y ge-11 =1 e i
i1 Fi-11
(A) PERHT () <=
(FeTgT)
(B) s =i & (I) zuwg
(C) KBrifest (I11) 317§ HX
(D) TEE (IV) w8 w&

H= feu v fo=eqi 9 9 9 3 =1 999 Hifaw

(1) @)D, (B)-(1ID), (C)-(1D), (D)-AV)
(2)  (A)-(IV), (B)-(1), (C)-(II), (D)~(11I)
3 (A)-ID, (B)-AV), (C)-(1D), (D)~
(4)  (A)-(IID), (B)-(IL), (C)-(D), (D)-(IV)



Options :

92090691453. 1
92090691454. 2
92090691455. 3
92090691456. 4

Question Number : 65 Question Id : 92090623140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many fundamental vibration frequency 1= observed in infra Red spectrum of
H:0

(1) 6 2y 5
3 4 {4y 3

Options :

92090691457. 1
92090691458. 2
92090691459. 3
92090691460. 4

Question Number : 65 Question Id : 92090623140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H:0 % $9h1E W Dagn # et e snafa arft (Sifdm) st 27

(1) 6 (2) 5
(3) 4 (4) 3
Options :

92090691457. 1
92090691458. 2
92090691459. 3
92090691460. 4

Question Number : 66 Question Id : 92090623141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): DTT is used in protein electrophoresis as a reducing agent to cleave
disulphide bonds

Reasons (R) ; DTT breaks the secondary structure of protein result in linear

structure

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

() Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3} {A) 15 correct but (R) 1s not correct
(4) (A) is not correct but (R) is correct

Options :

92090691461. 1
92090691462. 2
92090691463. 3
92090691464. 4

Question Number : 66 Question Id : 92090623141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= g1 %94 fou 0 E : uF 3HEEA (Assertion (A)) % ¥4 T feifiga 2 a1 gu0 39 FA0
(Reasons (R)) % F9 1 :

FEEeT (A) ;.  SEECEEE 94 % faeny 2 A soRiwiEE § 6 & & #7139 w
FTEEE o =9 ° foRgn 9w 8

= (R) Ui i fgdtm g =1 € & & voa =t @ e sfonreasy Wiy
wogaT TAfda =it 21

IR FYF & Aeis §, = fou v fawedi § 8 999 I9gE I F 93949 HIfaU

(1)  (A) 31 (R) 9H1 98 8 30 (R), (A) i #&l =5 2

(2)  (A) 3 (R) SHT =81 &, AR (R), (A) it =& =3men 78 2
(3) (A = 2, @A (R) =& 78 2

(1) (A =E TE 8, o (R) 98§

Options :



92090691461. 1
92090691462. 2
92090691463. 3
92090691464. 4

Question Number : 67 Question Id : 92090623142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W.C. Me Crone is best known for his contribution to which of the following

(1) DNA forensics (2) Forensic microscopy
i(3) Forensic botany (4) Forensic entomology
Options :

92090691465. 1
92090691466. 2
92090691467. 3
92090691468. 4

Question Number : 67 Question Id : 92090623142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Toeg Hi, Heehd (eteiiEd | 68 &9 § 799 IreH &g G9iEs 27

(1) =i v wifas (2) I HTSshiEhl (FEageieht)
(3) SRl Fiedl (Fveata fagm) (4) o $Fre-fagm

Options :

92090691465. 1
92090691466. 2
92090691467. 3
92090691468. 4

Question Number : 68 Question Id : 92090623143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ A compound microscope emplove a magnification system that

exceeds the limits imposed by simple lenses. A second lens is
placed in line with the first lens, which further enlarges the
1mAage.

Statement 11 : The total magnification of the microscope 18 not determined hy

the product of two lenses.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement I 1s correct but Statement 11 is incorrect

Statement I 12 incorrect but Statement 11 is correct

Options :

92090691469. 1
92090691470. 2
92090691471. 3
92090691472. 4

Question Number : 68 Question Id : 92090623143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i 3 e fg T €

Fyq 1 :

et wigaa gemesll § 5§ YA YOel i WgE Al SET 8 S SR wEl
ZF1 1A HWHAT § ghg H A1 8| 9YH @8 % 99 H 5 gAL o9 S @l
& fordt wfafas &1 smn &t & s &

Fu 11 : Feaeell = Fo AT SF1 ©FEl & HAG d H9iid T2 2 2l
I HUA % el 1, = fou o faweni 0 ¥ meE 39w I 6 = i

(1
(2)
(3)
(4)

e 1 3 11 S =t &
e 1 3fft 11 Hi Tord 2
Fue [ |41 &, oifed +o 11 7o 8
wuA 1 7TeAd B, dfeh Hua 1188 2

Options :



92090691469. 1
92090691470. 2
92090691471. 3
92090691472. 4

Question Number : 69 Question Id : 92090623144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following matrix is best suited to distinguish between episodic and
continuous exposure of drug or poison

(1) Liver (2) Kidney
(3) Hair (4) Blood
Options :

92090691473. 1
92090691474. 2
92090691475. 3
92090691476. 4

Question Number : 69 Question Id : 92090623144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefeifigd 4 & -1 3=E 31 9991 99 & g9eqat AR §a0 399 o 9 &g
T ITgH BT 27

(1) FHa (2) =R
(3) == (4) Tad
Options :

92090691473. 1
92090691474. 2
92090691475. 3
92090691476. 4

Question Number : 70 Question Id : 92090623145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a case of chronic poisoning, test conducted outside the body to know the possible
potential of carcinogenicity is known as

(1) Immunotoxic test (2) In vitro test
(3) In vivo test (4) Intoxication test
Options :

92090691477. 1
92090691478. 2
92090691479. 3
92090691480. 4

Question Number : 70 Question Id : 92090623145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teramiierss fawams = @y & Hergfdar & Fwrfaa 39T & = #d TR % aret e o
ATe] JEeT0 1 39 F9 § SHT F497 8

(1) wiafas tem (2) 9T (gAfaer) wiem
(3) o (39 =1En) T (4) TS e
Options :

92090691477. 1
92090691478. 2
92090691479. 3
92090691480. 4

Question Number : 71 Question Id : 92090623146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compounds causing defects in reproductive process or causes fetal mortality or birth
with defects is known as

(1) Onecogene (2) Procarcinogen
(3) Synergistic (4) Teratogenic
Options :

92090691481. 1
92090691482. 2
92090691483. 3



92090691484. 4

Question Number : 71 Question Id : 92090623146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oA Wisha H fampR 3igen Yu-gca (Aedan) weET fasn e 9 o S (3E) B
Tt HifiTeh 39 ®9 5 oH 919 8 -

(1) i (2) WG
(3) Tamfafes (4) CErEEE
Options :

92090691481. 1
92090691482. 2
92090691483. 3
92090691484. 4

Question Number : 72 Question Id : 92090623147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The revolvers have a revolving cylinder that contains several chambers each of which
hold how many cartridge(s)

(1) One (2) Two
(3) Five (4) Four
Options :

92090691485. 1
92090691486. 2
92090691487. 3
92090691488. 4

Question Number : 72 Question Id : 92090623147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el e § afeerdt (fanfeam) @o=t 2 & ool o9 9= o= 2m &, i == 8
§ geas 1 el SaE aifi el 8

(1) 2 o
(3) = (4) =T
Options :

92090691485. 1
92090691486. 2
92090691487. 3
92090691488. 4

Question Number : 73 Question Id : 92090623148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a normal case, the time taken for development of Rigor Mortis after death is

(1) 1.5 hours (2} 1 to 2 hours
(3) 3 to 6 hours {4) 6to 8 hours
Options :

92090691489. 1
92090691490. 2
92090691491. 3
92090691492. 4

Question Number : 73 Question Id : 92090623148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A foafd 4, g 9 god e (Fsa) & R (W) § 5@ § @ 3@
2

(1) 1.5 (2) 182
(3) 3H6E (4) 6F 8=
Options :

92090691489. 1
92090691490. 2
92090691491. 3
92090691492 4



Question Number : 74 Question Id : 92090623149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most suitable part of body used for diatoms test after death due to drowning 1s

(1) Muscles (2} Bone marrow in femur
i3 Bone marrow in ulna (4) Lungs
Options :

92090691493. 1
92090691494. 2
92090691495. 3
92090691496. 4

Question Number : 74 Question Id : 92090623149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$9- 9 B g o 97AN (0 9 dlcl S50 TG § FFE B & 00 I H HA-91 96
TEifieh 3 BT 27

(1) ufsmEr (2) EmE & afem
(3) 3T 6 wAfRms (1) FFE
Options :

92090691493. 1
92090691494. 2
92090691495. 3
92090691496. 4

Question Number : 75 Question Id : 92090623150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in correct sequence the general management followed in case of poisoning

(A) Stablization

(B) Gut decontamination
(C) Antidote administration
(D)  Elimination

(E) Symptomatic treatment

Choose the correct answer from the options given below :
(1) (A, (B). (C), (D), (E)
(2) (A, (O). (D), (E), (B)
(3)  (E), (D). (C), (B). (A)
(4)  (A). (C). (D), (B), (E)

Options :

92090691497. 1
92090691498. 2
92090691499. 3
92090691500. 4

Question Number : 75 Question Id : 92090623150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femmeraa 1 foufa s gavm =1 98 3990 1 ety $ifm)

(A)  feurde

(B)  3merdTet fagga
(C) uvdise (wfdfas) &
(D) =fEsRw

(E) = 3991

Fr feu o faweat @ 9 96 3 =1 959 Sifaw -
(1) (A, (B), (C). (D). (E)
(2) (A, (C), (D), (E), (B)
(3)  (E), (D), (C). (B), (A)
(4)  (A), (C), (D), (B), (E)

Options :
92090691497. 1



92090691498. 2
92090691499. 3
92090691500. 4

Question Number : 76 Question Id : 92090623151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Term “Fracture a-la signature” 1s used to define

(1} A ring fracture (2) A fissured fracture
i(3) A depressed fracture {4) Separation of suture line
Options :

92090691501. 1
92090691502. 2
92090691503. 3
92090691504. 4

Question Number : 76 Question Id : 92090623151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘e H-o1 Ty ug fafafaa @ e afonfua &6 o ygad fm s 27

(1) oo St (3feraT) (2) Taerfe e (3rferm)
(3) A et (afenm) (4) Haq @ # guE
Options :

92090691501. 1
92090691502. 2
92090691503. 3
92090691504. 4

Question Number : 77 Question Id : 92090623152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement [ :  Tetrahydro cannabinol is principle constituent of marijjuana resin

Statement [ ;  Tetrahydro cannabinol is central nervous system depressant

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3) Statement | is correct but Statement 11 is incorrect

() Statement I is incorrect but Statement 11 1s correct

Options :

92090691505. 1
92090691506. 2
92090691507. 3
92090691508. 4

Question Number : 77 Question Id : 92090623152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g weH feu o #

wua 1 emErsst Satfesia, S fam & agg FoiE (ae) 21

FuT 11 : ZTETeSl FaATe-Te, e Al 93 &1 JG9HE 2l 2|

ITAH FHYF % AErs 4, Fi= oy v fasmedi § | 999 39w I F 9g Fifaw
(1) %A 1 3fi 11 e =8 &

(2)  FY 1 3% 11 g T 2

(3) w9 156 2, & T3 [ 790 &
(4) %y 1o &, Wi wua 11 w81 8

Options :

92090691505. 1
92090691506. 2
92090691507. 3
92090691508. 4



Question Number : 78 Question Id : 92090623153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T ;

List 1 List 11
Poizon Symptoms
(A) Organophosphates (I) Guillain Barre syndrome
(B) Thallium (I} Addison’s disease
(C) Arsenic (III) Acne
(D) Bromides (IV) Bronchial Asthama

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(ID), (C)-(I1D), (D)-(IV)
(2) (A)-(IV), (B)-(111), (C)-(1), (D)-(I)
(3)  (A)-(II), (B)-(IIT), (C)-(I), (D)-{IV)
(4) (A)-(IV), (B)-(I), (C)-(1I), (D)-(L1I)

Options :

92090691509. 1
92090691510. 2
92090691511. 3
92090691512. 4

Question Number : 78 Question Id : 92090623153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % T g-11 =1 foeme S

g1 111
fau HALOT
(A) wEBERe (1) TfeEE i faem
(B) &feam (I) wEiaa T
(C) it (I1T) =&Ta
(D) #HEE (IV) wifshaer semT

= feu mu fasewi § @ 98 3 = 999 Sl

(1) (A)-(D), (B)-(ID), (C)-(I1T), (D)-(IV)
(2)  (A)-IV), (B)-(III), (C)-(ID), (D)~(T)
(3)  (A)-(ID, (B)-(III), (C)-(I), (D)-(IV)
(4)  (A)-(IV). (B)-(D), (C)-(ID), (D)-(IIT)

Options :

92090691509. 1
92090691510. 2
92090691511. 3
92090691512. 4

Question Number : 79 Question Id : 92090623154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Muttering delirtum 1s observed in poisoning of

(1) Coecaine {2) Heroin
(3) Organophosphates {4) Dhatura
Options :

92090691513. 1
92090691514. 2
92090691515. 3
92090691516. 4

Question Number : 79 Question Id : 92090623154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeuEatim yend fefefiaa feas faaredy 4 i g 22

(1) A (2) &R
(3) FTEITHE (4) a0
Options :

92090691513. 1
92090691514. 2
92090691515. 3
92090691516. 4

Question Number : 80 Question Id : 92090623155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(iiven below are two statements ;

Statement | : Asphyxia 1s a type of mechanical trauma in which the body is
deprived of oxygen.

Statement I :  The heart 1s the most susceptible organ to asphyxia

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 11 are correct
() Both Statement 1 and Statement 1l are incorrect
(3 Statement [ 1s correct but Statement 11 is incorrect

(4) Statement [ 18 incorrect but Statement 11 18 correct

Options :

92090691517. 1
92090691518. 2
92090691519. 3
92090691520. 4

Question Number : 80 Question Id : 92090623155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At o o feg e €

Fu9 [ TEEEUY, JiEE 999 (ZE1) % Uh THE & 989 TR & HAedi=Ey 98 99
BT 81

o 11 : &5 \aiys AFHT (G99) 8 wEEE0y ® 9 8m 2
IR FeH o Hi °, A fou mn fawedi § 8 599 3T 39 &1 954 Hifag

(1) =1z IlsH =8 &
(2) g9 13 [ g4 7o &
(3) YA =€ 2, wifen %99 11 7eid 2
(4) =% 174 7, ok %o 11 581 2

Options :

92090691517. 1
92090691518. 2
92090691519. 3
92090691520. 4

Question Number : 81 Question Id : 92090623156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three metals blocks A, B and C of masses 10 kg, 20 kg and 30 kg rest on a friction
less table in a line. A is connected to B and B to C by two pieces of string with the
help of the third string attached to C. the system is pulled to the right with a force of
60 N. What would be the tension of first and second strings

{1} 10 Newton and 30 Newton (2) 20 Newton and 10 Newton
(3 20 Newton and 30 Newton (4) 25 Newton and 35 Newton
Options :

92090691521. 1
92090691522. 2
92090691523. 3
92090691524. 4

Question Number : 81 Question Id : 92090623156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 T, 20 TR, 3R 30 frmn. geam T €9 wifes @ A, B 3R C ovwRfza wifof
TTHHI A W@ U CHETH (G ) T S Fi A H sg # gl ghsl g B, C H
TE A, B ¥ 31 2, 30 Well & 60 N (FeA) 9t 9 § gifedt AR Eien Fe 21 9uH v
feda =311 & foraen 7 g e

(1) 10 =g2A 3R 30 A (2) 20 =EF 3 10 A
(3) 20 =g 3R 30 A (4) 25 =2 3N 35 A
Options :

92090691521. 1
92090691522. 2
92090691523. 3
92090691524. 4

Question Number : 82 Question Id : 92090623157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(7iven below are two statements :

Statement I :  Michelson interferometer is used to measure length or change in
length with great accuracy by means of diffraction.

Statement I :  Michelson Interferometer is used to measure length or change in
length with great accuracy by means of interference fringes.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement 1 and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I 18 correct but Statement 11 18 incorrect

(4) Statement | is incorrect but Statement 11 1s correct

Options :

92090691525. 1
92090691526. 2
92090691527. 3
92090691528. 4

Question Number : 82 Question Id : 92090623157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fr 5 wu feg o #

Fod 1:  Toeerss el &1 wam fqdas | |rye grn b Jieggan Jrell @= i 5

waE YT IHadd 994 ° e = 2)

&4 11 : Togoss gewhidied &1 940, SAfde 30 & a4 gan Afue gt amt

T, i A YA THEaA HI BT &g R A &l

ITURE HYH % Il H, A fou U el § ¥ 999 39 3 H1 994 DI

(1) =2 130 115 56 3

(2) w3 1 5H 7ed 8

(3) wu 198 2, dfes =99 11 7eia 8

(4) Fu 1 7ed 2, wifeeT wua 11 8 8
Options :

92090691525. 1
92090691526. 2
92090691527. 3
92090691528. 4

Question Number : 83 Question Id : 92090623158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the statement 1s correct :

(1)

(2)

(3)

(4)

The amount of heat required to raise the temperature of 1 kg of substance by
1 K iz called specific heat capacity of substance

The amount of heat required to raise the temperature of 1 kg of substance by
1 k 15 called specific latent heat of fusion

The amount of heat required to raise the temperature of 1 kg of substance hy
1 K is called specific heat of vaporisation

Heat lost 1s not equal to heat gained in the principle of calorimetry

Options :

92090691529. 1
92090691530. 2
92090691531. 3
92090691532. 4



Question Number : 83 Question Id : 92090623158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H § HH-H 54 FE 2

(1) 1 Toreim asm & 9a19 % auss § | K % gfg ¢ &q 3nfaa 3= & aen w5l

1 fafere 3s1 arfedr Faerd 21

(2) | T 394 & 92 &% avsd § | K 9% g9fg # &g ulEa I S amn
Hoq 1 e T 39 HEan 8l

(3) | e a9 % 9erd &% @weed ° | K 9% e F &g aHiEm IS R A
arofi i fafire 1 3s wEa 2

(4) hArITElg & fagma o -3, 9e Hi T 3T & S0el A8 g6l 2l

Options :

92090691529. 1
92090691530. 2
92090691531. 3
92090691532. 4

Question Number : 84 Question Id : 92090623159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the four options given, choose the most appropriate sequence of the four
phrases given below to make a meaningful sentence

{(A) Only a part of light with electric field vector perpandicular to the plane of
incidence will be reflected

(B) Let this light be incident on the surface of the prism at Brewster's angle. No
reflection is observed

()  An unpolarised beam of light is incident at an Brewster's angle on an interface
of two media

(D) By using a good polariser, if we completely remove all the light with its
electric vector perpendicular to the plane of incidence.

Choose the correct answer from the options given below :

(1) (A (C), (B), (D)
2y  (B), (D), (C), (A)
(3)  (B), (A} (D), (C)
(4) (O, (A), (D), (B)



Options :

92090691533. 1
92090691534. 2
92090691535. 3
92090691536. 4

Question Number : 84 Question Id : 92090623159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9n fawedi for wu €| = fe o 9w a9 s A9 A g9H &g saive S9gE
FHT -

(A) Toe@ &= 90 TR F Ao UF (BEET AMTA-9eH Aq AW o@ad S gidrEtEa
U

(B) #3et-= % fisg $1 998 W YS9 % A9fad 84 | F1E TEad Gfed T8 2 2
(C) =k i 3pyEtE o1, g1 difedn & ol 370 WF W S3%-F0 W 9l &l 2|

(D) 39 Y9% & FAM Fd gL AYGH-9A ¥ HalGd 39 920 Giew @g9q Higa
THET TR HI FH AT g &l

+r=1 feu o fasredi O | wE 3 w1 =599 HifA
(1) (A), (C), (B). (D)
(2)  (B), (D), (C). (A)
(3)  (B), (A), (D). (C)
(4)  (C), (A), (D), (B)

Options :

92090691533. 1
92090691534. 2
92090691535. 3
92090691536. 4

Question Number : 85 Question Id : 92090623160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List I1 :

List I List IT
{(A) Central forces (I} Statement is Related to Newton
2od 1aw of motion
(B) Law of periods (IT) Force that provides inward radial
acceleration

(C) Same force for the same time (III) Force which in always directed
causes the same change in towards or away from fixed point
Momentum for different bodies

(D) Centripetal force (IV) Square of the time period of
revolution of a planet is
propartional to cube of semi-major
axis of ellipse

Choose the correct answer from the options given below :

(1) (WD, B)-(IV), (C)-(D). (D)-(I1T)
(2 (A)-D, (B)-(). (C)-(D). (D)-(IV)
(3) (W), (B)-(D), (C)~(L), (D)-(IV)
() (A)-(V), (B)-(ILD), (C)-(I1), (D)-(I)

Options :

92090691537. 1
92090691538. 2
92090691539. 3
92090691540. 4

Question Number : 85 Question Id : 92090623160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TH1-1 % w19 g=-11 =1 faee Fifaw

H-1 g1

(A) g Ed (I) 9% %3, e = Tid qaHl gl
fm 5 =afag 2

(B) #EA-Fam (II) 98 5=1 =1 @i 1 77 FF=ig

= UG Al Bl
(C) 5vH 899 &4 @9H ad, (11 98 & = {6 ada e ffea
fafm f=mEt &g @9 o fag &1 3w vy g FEhE
A ufEd 39 T 21 g 2l
(D) heTERT 5t (I et 718 & dwimam =
HAEdTFE w1 o, ddgm %
FE-IgE HE kA H

HAEaSF BT 2
g eu mu fa=ew 9 9 98 3 % 95 Fifs

(1)  (A)-ID, (B)-AV), (C)-(D), (D)-(11I)
(2) (AL, (B)-(III), (C)-(1), (D)-(IV)
(3) (A, (B)-(II), (C)-(I1L), (D)-(IV)
(4)  (A)-AV), (B)-(LD), (C)-(I), (D)-(D)

Options :

92090691537. 1
92090691538. 2
92090691539. 3
92090691540. 4

Question Number : 86 Question Id : 92090623161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meanmingful sequence

{A) Asit enters a raindrop
(B) Of white light to separate

(C)  Which causes the different wavelength (colours)
(D) Sunlight in first refracted

(Choose the correct answer from the options given below :
(1) (A (B). (D), (C)
(2)  (B), (C), (D), (A)
(3 (D), A), (C), (B)
(4) (D), (A), (B). (C)

Options :

92090691541. 1
92090691542. 2
92090691543. 3
92090691544. 4

Question Number : 86 Question Id : 92090623161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu mu =m fasredi § 9, el arEn &9 &g A fou o S e § 9 waitas I
Sel G

(A) S 354 HIS 991 g5 Y99 HAl 8|

(B) 75 WTI ®I JUF L & og

(C) =it fo iy qam 2ed (T) 3e99 6 2

(D) ¥ Toror (whmen) weel 3r9Efda g 2|

g feu mu famegt O 9 92 39 =1 =99 #ifau .
(1) (A), (B), (D), (C)
(2) (B), (C), (D), (A)
(3) (D), (A), (C), (B)
4y (D), (A), (B). (C)

Options :
92090691541. 1



92090691542. 2
92090691543. 3
92090691544. 4

Question Number : 87 Question Id : 92090623162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phase difference of two light waves can change if they travel through different
media, with different indexes of refraction the reason for this is

(1) Their wavelength are same in different media

(2) Their wavelength are different in the different media

(3) Their wavelength are diftferent in same media

(4) Media has no effect on wavelength

Options :

92090691545. 1
92090691546. 2
92090691547. 3
92090691548. 4

Question Number : 87 Question Id : 92090623162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 TR 0T 2l ITEE] 3T H UiEd- &1 Hehdl & 416 d 3990 o (9194 Gahiehl arefl 154
Hifean & Tt €1 98 39 0 | g g -

(1)  Feht awieed, Tim difear 4 oom 2 £

(2) Tt aue, fim Hifean 9 smmam 26 2

(3)  Feh! AU, AW Hifggr § fa= g 81

(4)  Hifem =1 q0Tes W wE 99 T8 B 2

Options :

92090691545. 1

92090691546. 2

92090691547. 3
92090691548. 4

Question Number : 88 Question Id : 92090623163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A monochromatic light of frequency 6.0 x 10 Hz is produced by a laser. The power
emitted in 2.0 x 10-% watt. What will be the energy of the photon in the light beam

(1) 2x10-19] (2) 3x10-19]
(3)  4x10MJ (4) &x10-19J
Options :

92090691549. 1
92090691550. 2
92090691551. 3
92090691552. 4

Question Number : 88 Question Id : 92090623163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR ¥ 6.0x10"" g2 i Gl wHAvl Yt 399 foFE S 81 Itaa o N S
2.0x107" Fie &1 T =19 § HIe 1 S0 R w7

(1) 2x107°J (2) 3x1079y
@ 4x107%J (4) 5x1077
Options :

92090691549. 1
92090691550. 2
92090691551. 3
92090691552. 4

Question Number : 89 Question Id : 92090623164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A eircular race track of radius 300 m is banked at an angle of 15°, if the co-efficient of
friction between the wheels of a race car and the road in 0.2. What will be the
optimum speed of the race-car to avoid wear and tear an its tyre and what will be the
permissible speed to avoid slipping

(1) 25.1 m/e and 35.1 m/s (2 281 m/sand 35.1 m/s
(3) 28.1 m/s and 38.1 m/s (4) 25.1 mfs and 38.1m/s
Options :

92090691553. 1
92090691554. 2
92090691555. 3
92090691556. 4

Question Number : 89 Question Id : 92090623164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

300 #i. Fram aren v gefa gEd 76 150 % S0 W R §, ded ol w6 el iR
HSF & HH TUU FH O 0.2 F| GH-HR & TR h FeA-THHAT B H qA o foC
YTE- - = §52a8 TTid fapa1 B0fl 3R fhaem ¥ ==- &g wied (%) 7fa et anft?

(1) 25.1 %, /5. 3 35.1 9. /3. (2) 28.1 @ /&, 37T 35.1 #. /4.
(3) 28.1 W /5. 3R 38.1 #. /4, (4) 25.1 . /9. 37T 38.1 . /4.
Options :

92090691553. 1
92090691554. 2
92090691555. 3
92090691556. 4

Question Number : 90 Question Id : 92090623165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A road in banked correctly for a speed of 40 km/h. What 1s the maximum speed with
which a car can negotiate the bend without skidding, if the co-efficient of friction
between road and tyre is 0.3 and the radius of the bend is 1 km

(1) 100 km/h (2) 200 km/h
(3) 300 km/h (4) 400 km/h

Options :



92090691557. 1
92090691558. 2
92090691559. 3
92090691560. 4

Question Number : 90 Question Id : 92090623165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF He% faEu ntg d@wr 40 fdfi fger faite 4 w21 afe g5 3 o & av g &5
e 0.3 B HR gue gadl Ge 1 L 2 9 e 9 afusan nfa e 2nft faw w
T I TeA1 e 85U =elEn =1 Gl 87

(1) 100 ft. ufa = (2) 200 f1. ufq =e1
(3) 300 fdt. gfq =9a (4) 400 1, wfa g
Options :

92090691557. 1
92090691558. 2
92090691559. 3
92090691560. 4

Question Number : 91 Question Id : 92090623166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List II
(Molecule) (Shape)
(A) (ICLy)- (I) Linear
(B) Ir (II) Pentagonal bipyramid
(C) IF+t (III) Square planar
(D) Ba: [XeOsgld- (IV) Octahedral

Choose the correct answer from the options given below :
(1} (A1), (B)-(I), (C)-(11), (D)-(IV)
(2}  (A)-(II), (B)-(I), (C)-(IV), (D)-(II)

(3)  (A(IV), (B)-(ID), (C)-(1D), (D)-(I)
(4)  (A)-(II), (B)-(III), (C)-(I), (D)-(IV)

Options :



92090691561. 1
92090691562. 2
92090691563. 3
92090691564. 4

Question Number : 91 Question Id : 92090623166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

get-1 s @ G111 =1 faer hifae
- =11
Molecule mg-ﬂ%l
(A) [y (I &=
B) 1 (IT) =it
Tafrofos
(C) IF (IIT) =77 Tmeae
(D) Ba, [XeOg; (IV) FASHATHR

e feu v fasew § 9 HE 39 F 994 S

(1) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)
(2)  (A)-(IID), (B)-(D). (C)-(IV), (D)-(II)
(3)  (A)-(IV), (B)-(I11), (C)-(1I), (D)-(I)
(4)  (A)-(ID), (B)-(I1D), (C)-(I), (D)-(AV)

Options :

92090691561. 1
92090691562. 2
92090691563. 3
92090691564. 4

Question Number : 92 Question Id : 92090623167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a molecule with d* configuration, the increasing order of the energy of various

states 1s

(1) 'F< P<'G<D<S () *F>'P>'G>D>'S

{H} IEP}.iF}.S}.D}rG {.-1']. 'S{ID{:I{}{JP{&P"
Options :

92090691565. 1
92090691566. 2
92090691567. 3
92090691568. 4

Question Number : 92 Question Id : 92090623167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d* To=mm arer 319 & feru, fafay sEeasd 6 0 & Sgdl g3 %9 & -

{l} :.I:!.."‘::..J!p{l{; ":1” {15 {_2} ‘IEE'}:il":}I“ }1“}1:.;
(3) Bprdprlszip>1y (4) 1g<1lp<lg<3p <3y
Options :

92090691565. 1
92090691566. 2
92090691567. 3
92090691568. 4

Question Number : 93 Question Id : 92090623168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following molecule cannot be eliminated by E: mechanism?

X
(1) RXK B pp B
X

—_—
(3) A i (4 P X

Options :
92090691569. 1



92090691570. 2
92090691571. 3
92090691572. 4

Question Number : 93 Question Id : 92090623168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frforfiaa @ & =F-w1 3, B, ety sfen gro faefad 58 e o sar?

H X
X
>< /)\/,/Ii
(1) (2) FPh
X
Options :

92090691569. 1
92090691570. 2
92090691571. 3
92090691572. 4

Question Number : 94 Question Id : 92090623169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents chemiluminescence?

{A) The oxidation of 3-aminophthalic eyclic hydrazide in alkaline solution of
hydrogen peroxide

(B) Oxidation of phosphosus

()  Bioluminescence

(D) Photosensitization of mercury

Choose the correct answer :
(1) (A), (B). (C)
(2) (B), (C), (D)
(3)  (A) (C). (D)
(4) (A), (B), (D)

Options :



92090691573. 1
92090691574. 2
92090691575. 3
92090691576. 4

Question Number : 94 Question Id : 92090623169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fferian & & =+ wWiEeiy (FHegEg) S s e

(A) EESIEH WiEEE % @iy faem 1 3 sniecifas g wneese 51 35=E|
(B) ®IERIAH 1 3994

(Cy Sg=dm
(D)  9HT T 9eR1A HUATAH
HEl I 1 =994 FifTu ;

(1) (A), (B), (O
(2) (B), (C), (D)
(3) (A), (C), (D)
(4) (A), (B), (D)

Options :

92090691573. 1
92090691574. 2
92090691575. 3
92090691576. 4

Question Number : 95 Question Id : 92090623170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 ;

List 1 Last 11
{Bond) {Bond energy)
(A) O-H (I) 456
(B) O-C (II) 418
(C)y C=0 (I1I) 469
(D) C—H (IV) 369

Choose the correct answer from the options given helow :

(1) (A, (B)-(1D), (C)-(I1L), (D)-(IV)
(2)  (A)-(D), (B)-(AD), (C)-(IV), (D)-(I1T)
(3)  (A)-(II), (B)-(D, (C)-(IV). (D)-(IT)
(4)  (A)-(D, (B)-(ID), (C)-(IV), (D)-(IL)

Options :

92090691577. 1
92090691578. 2
92090691579. 3
92090691580. 4

Question Number : 95 Question Id : 92090623170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 % Ty -1 o1 fiem Hifsw
-1 11

(A) O-H (I) 456

(B) O-C (II) 418

© C=0 (ITT) 469

(Dy C-H (IV) 369

I= feu o fameal § o 98 39 =1 =99 Sifao .

(1) (A)(D, (B)-(II), (C)-(111), (D)-(1V)
(2) (A, (B)-(ID), (C)-(IV), (D)~(I1I)
(3)  (A)-(I1I), (B)-(I), (C)-(IV), (D)-(IT)
(4)  (A)-(D, (B)-(1D), (C)-IV), (D)-(1I)



Options :

92090691577. 1
92090691578. 2
92090691579. 3
92090691580. 4

Question Number : 96 Question Id : 92090623171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Tertiary halide reacts faster than secondary halide.

Reasons (R) :  Test carbocation has greater stahility.

In the hight of the above statements. choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 18 correct but (R) is not correct

(4) {A) 15 not correct but (R) is correct

Options :

92090691581. 1
92090691582. 2
92090691583. 3
92090691584. 4

Question Number : 96 Question Id : 92090623171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 e fou U € @ U HUEEA (Assertion (A)) % ¥4 § fofigd & 1§50 35 S0
(Reasons (R)) % ®9 1 :

ANHIT (A) :  TAITH &cNSE, [5da%H aclss ol & dig AfTha1 Fal &l
= (R) : AR~ § Ahat (=a79h) ferar 9t 5t 2

ITE HYHA F e °, = fou mu fawed § | wew 3ugw I W =934 fifan

(1) (A) 3R (R) gH1 @l 3 (R), (A) T @ = 2

(2) (A 3R (R) 2HI @& &, # (R), (A) =i @81 samE T8 2
(3) (A) Wl &, =i (R) @l 78 2

(4) (A =& 7 8, @il (R) wE 2

Options :

92090691581. 1
92090691582. 2
92090691583. 3
92090691584. 4

Question Number : 97 Question Id : 92090623172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): The boiling point of ethylene glyecol is higher in comparsion to
ethanol.

Reasons (R):  Ethylene glycol has two hydroxyl groups whereas ethanol has a
single hydroxyl group.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both {(A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)

(3) {A) is correct but (R) is not correct

(4) {A) is not correct but (R) is correct

Options :
92090691585. 1



92090691586. 2
92090691587. 3
92090691588. 4

Question Number : 97 Question Id : 92090623172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= a1 A fou T B : UF e (Assertion (A)) % ¥9 H fdfEa & a1 gE0 39 FAO
(Reasons (R)) & 9 4 :

wfweT (A) ;. TSN igEE w =Y, UUHTS S A9 s g 2

=0 (R) : TR TGS § 2 EEgiaEd S YA @ & Jaih UgHe d UHe
FISgiae] UHE &ial 2|

IHIT HYUF & AT H, {r feu T fGFHed § ¥ g96 I9H I B 991 HIa0

(1) (A) 3R (R) &F1 981 & 3R (R), (A) 5t =& = 2

(2) (A 3R (R) <F1 58t &, Tl (R), (A) it =81 =amen 78 2
(3) (A = 2, wfE (R) ol = 2

(1) (A) =l 7@ 7, @il (R) 981 2

Options :

92090691585. 1
92090691586. 2
92090691587. 3
92090691588. 4

Question Number : 98 Question Id : 92090623173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement [ :  The transition state represents an energy maximum.
Statement [ : The phosphorescence is a non-radiative process.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement 11 are correct
{2y Both Statement | and Statement 1l are incorrect
(3 Statement [ is correct but Statement 11 is incorrect

{4} Statement [ 1s incorrect but Statement I1 15 correct

Options :

92090691589. 1
92090691590. 2
92090691591. 3
92090691592. 4

Question Number : 98 Question Id : 92090623173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g1 @y fer o E

w9 1 HHaw s sfasay sat =i i =@ 2
F94 11 : vpeeia s W-Tfaswora ufema 2)

ITRE Y o ATl H, A1d TeU MU fGewedl § 8§ 966 359G A B 994 HITaC

(1) =¥a 1 3 [1 241 w81 3
(2) w9 1R [ eH T4 B
(3) =¥ 198 2, o F97 11 T 2
(4) =¥F 1 7ed 2, wifesT w2 11 98 2

Options :

92090691589. 1
92090691590. 2
92090691591. 3
92090691592. 4



Question Number : 99 Question Id : 92090623174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following groups are ispelectric with nitrogen molecule

(A) C€=0
(B) C=N"
© ~C=C
Dy C=0

The options are :

(1) (A) only
(2) (B)only
{3) Both (A) and (B)
(4) Both (B) and (D))

Options :

92090691593. 1
92090691594. 2
92090691595. 3
92090691596. 4

Question Number : 99 Question Id : 92090623174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafga & -7 o9 =T 39 % 919 gudgd & 87

(A) C=

B) C=N
(C) ~C=C
(D) C=0
e € -

(1) Fad (A)

(2) Had (B)
(3) (A 3 (B) g1
(4)  (B) 3 (D) &Fi

Options :

92090691593. 1
92090691594. 2
92090691595. 3
92090691596. 4

Question Number : 100 Question Id : 92090623175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following spectroscopic technique detects the bond length and angles

(1) Radiowaves (2) Infra-red waves
{3 X-rays (4) UV radiation
Options :

92090691597. 1
92090691598. 2
92090691599. 3
92090691600. 4

Question Number : 100 Question Id : 92090623175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=fafiaa § S~ o awe (vfafa), 9y-oeE vd S 51 gEEd w3 2

(1) tfer aw (2) TN (3aiaEd) T
(3) TwEE-1 (4) e ferfeRTor
Options :

92090691597. 1
92090691598. 2
92090691599. 3
92090691600. 4



